《14.2.2 完全平方公式》习题

1、若(2a+3b) 2 =(2a－3b)[image: image1.png]ik H Z22FEL R (ZXXK.COM)




 2 +(   )成立, 则括号内的式子是（  ）

   [image: image2.png]ik H Z22FEL R (ZXXK.COM)




A.6ab    B.24ab    C.12a[image: image3.png]ik H Z22FEL R (ZXXK.COM)




b    D.18a[image: image4.png]ik H Z22FEL R (ZXXK.COM)
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2、 下列等式成立的是[image: image5.png]ik H Z22FEL R (ZXXK.COM)




 （  ）[image: image6.png]ik H Z22FEL R (ZXXK.COM)




 

   A.(a－b) 2 =a2－ab+b2              B.(a+3b[image: image7.png]ik H Z22FEL R (ZXXK.COM)




)2 =a2 +9b2
   C.(a+b)(a－b)=(b[image: image8.png]ik H Z22FEL R (ZXXK.COM)




+a)(－b+[image: image9.png]ik H Z22FEL R (ZXXK.COM)




a)      D. (x－9)(x+9)=x2－9

3、已知
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是完全平方式，则
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的值是（     ）
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4、如果
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5、计算： 

(1)
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       （3）(a+b) 2 -(a-b) 2               

(4)(a+b-c) 2      〔5〕 (x-y+z)(x+y+z)    

(6)(mn-1）2—（mn-1)(mn+1)

6、化简求值：
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  其中
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